TOWN OF APPLE VALLEY

NAVAJO ROAD DRAINAGE IMPROVEMENTS

PROJECT NUMBER: 2020-07

BID OPENING: JANUARY 14, 2021, 1:30 PM – TOWN COUNCIL CHAMBERS



BID RESULTS - FINAL

Company:	Kelley's Underground Construction, Inc.
TOTAL BID:	\$474,470.45
RANK:	1
Company:	DDH Apple Valley Construction, Inc.
TOTAL BID:	\$504,648.00
RANK:	2
Company:	Christensen Brothers General Engineering, Inc.
TOTAL BID:	\$618,809.30
RANK:	3
Company:	High Desert Underground, Inc.
TOTAL BID:	\$701,032.50
RANK:	4
0	Deading Fusing sings 0 Contraction to
Company:	Roadway Engineering & Contracting, Inc.
TOTAL BID:	\$713,088.00
RANK:	5
Company:	TE Roberts, Inc.
TOTAL BID:	\$793,848.00
RANK:	6
Company:	Gentry General Engineering, Inc.
TOTAL BID:	\$1,153,851.00
RANK:	7

TOWN OF APPLE VALLEY

NAVAJO ROAD DRAINAGE IMPROVEMENTS

PROJECT NUMBER: 2020-07

BID OPENING: JANUARY 14, 2021, 1:30 PM – TOWN COUNCIL CHAMBERS



Company:	AID Builders, Inc.
TOTAL BID:	\$1,210,549.00
RANK:	8

SECTION 300 - BID FORM

NAME OF BIDDER: Kelley's Underground Con Inc.

The undersigned Bidder hereby declares that it has carefully examined the location of the proposed Work, and has read and examined the Contract Documents, including all plans, specifications, and all addenda, if any, for the following Project:

Navajo Road Drainage Improvements

BID SCHEDULE

NO.	ITEM DESCRIPTION	UNIT OF MEASURE	EST. QTY.	UNIT PRICE	LINE ITEM COST	
1.	REMOVE EXISTING ASPHALT WALK	S.F.	92	5.00	460.00	
2.	REMOVE EXISTING JUNCTION STRUCTURE	L.S.	1	1500.00	1500.00	
3.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 0+47.5)	L.S.	1	750000	7500.00	
4.	36" REINFORCED CONCRETE PIPE (D-2000)	L.F.	380	95.00	36,100,0	2
5.	6 IN. CONCRETE WALK PER SBCO STD. #109	S.F.	103	37.00	3811.00	
6.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 3+20.30)	L.S.	1	7500.00	7500.00	
7.	CONCRETE HEADWALL PER SBCO STD. #209	L.S.	1	5900.00	5900,00	
8.	INSTALL TRASH RACK	L.S.	1	3900.00	39000	2
9.	CLASS 5 INJECTION WELL SYSTEM	L.S.	1	49.5000	49,5000	Q
10.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 3+87.18)	L.S.	1	7500,00	7500.0	2
11.	REMOVE EXISTING DRYWELL	L.S.	2	4500.00	9000.00	
12.	RUBBLE APRON	S.F.	354	15.0D	5310.00	
13.	REMOVE EXISTING IRRIGATION SYSTEM	L.S.	1	750,00	750,00	
14.	REMOVE EXISTING FENCE	L.F.	82	6.00	492.00	
15.	DETENTION BASIN EXCAVATION	C.Y.	5,500	14.00	77,000.9	2
16.	MOBILIZATION/DEMOBILIZATION	L.S.	1	12,000.00	12,000.0	2
17.	STORM WATER POLLUTION PREVENTION BMP IMPLEMENTATION	L.S.	1	2500,00	2500.0	
18.	STAGING/TRAFFIC CONTROL	L.S.	1	35000	3500.9	2
	DRYWELLS AT VARI	OUS LOCATIO	NS			
19.	CLASS 5 DRYWELL	EA	4	45.000.0	135,000.	\$180,000. N
20.	8" DRAIN CONNECTOR PIPE	L.F.	250	65.00	16,250.0	D
21.	4" THICK ASPHALT APRON	S.F.	2,051	4.95	10.152.45	
22.	24" X 24" CATCH BASIN	EA	5	3000,00	15,000.9	D
23.	18" REINFORCED CONCRETE PIPE (RCP) (D-2000)	L.F.	40	160.00	6400.0	2
24.	INSTALL TOWN FURNISHED INFILTRATION CHAMBER	L.S.	1	74000	7400.00	
25.	TRAFFIC CONTROL	L.S.	1	5000.00	.5000.00	
	ALTERNATE	BID ITEM				
A-1.	UNIT COST FOR SETTLING CHAMBER	L.F.	TBD	45.00	45.00	

Bidders must provide pricing for every bid item.

The estimated quantities for unit price items are for purposes of comparing bids only and the Town makes no representation that the actual quantities of work performed will not vary from the estimates.

In case of discrepancy between the unit price and the line item cost set forth for a unit price item, the line item cost, calculated at the unit price multiplied by the estimated quantity, shall prevail and shall be utilized as the basis for determining the lowest responsive, responsible bidder. However, if the amount set forth as a unit price is ambiguous, unintelligible or uncertain for any cause, or is omitted, or is the same amount as the entry in the "Line Item Cost" column, then the amount set forth in the "Line Item Cost" column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price. If any of the above discrepancies exist, the Town may recalculate the bid price on the basis of the unit price and the bidder agrees to be bound by such recalculation. Final payment for unit price items shall be determined by the Town from measured quantities of work performed.

TOTAL BID PRICE BASED ON BID SCHEDULE (BID ITEMS 1 THROUGH 25 AND

Four Hundred Twenty nine Thousand, Four Hundred Seventy and Forty Five Cents.

In case of discrepancy between the written price and the numerical price, the written price shall prevail.

The undersigned agrees that this Bid Form constitutes a firm offer to the Town which cannot be withdrawn for the number of Working Days from the bid opening stated in the Notice Inviting Bids from the bid opening, or until a Contract for the Work is fully executed by the Town and a third party, whichever is earlier.

The Contract Time shall commence on the date stated in the Town's Notice to Proceed or as stated above. In no case shall the Contractor commence construction prior to the date stated in the Town's Notice to Proceed, or before providing the required bonds and evidence of insurance.

Bidder certifies that it is licensed in accordance with the California law providing for the registration of Contractors, License No. 930860, Expiration Date 202060 of license 1. If the bidder is a joint venture, each member of the joint venture must include the above information.

The undersigned acknowledges receipt, understanding and full consideration of the following addenda to the Contract Documents.

Addenda No	1-	117	21
Addenda No			

SECTION 340 - DESIGNATION OF SUBCONTRACTORS

In compliance with the Subletting and Subcontracting Fair Practices Act of the Public Contract Code of the State of California, each bidder shall set forth below: (a) the name and the location of the place of business, (b) the California contractor license number, (c) the Department of Industrial Relations registration number, and (d) the portion of the work which will be done by each subcontractor who will perform work or labor or render service to the Contractor in or about the construction of the work in an amount in excess of one-half of one percent (1/2%) of the Contractor's Total Bid Price. Notwithstanding the foregoing, if the work involves streets and highways, then the Contractor shall list each subcontractor who will perform work or labor or render service to Contractor in or about the work in an amount in excess of one-half of one percent (1/2%) of the Contractor's total Bid Price or \$10,000, whichever is greater. No additional time shall be granted to provide the below requested information.

If no subcontractor is specified, for a portion of the work, or if more than one subcontractor is specified for the same portion of Work, then the Contractor shall be deemed to have agreed that it is fully qualified to perform that Work, and that it shall perform that portion itself.

The Town requires the Contractor to perform at least 50% of the Work with its own forces and equipment.

Name of Subcontractor	Location of Business	Work to be done by Subcontractor	CSLB License Number	DIR Registration Number	% of the Work
Minden	LakeElsinore	-Structurs	863777	1000027552	60/0
Torrent	BloomingtonCA	drywells	884759	1000024894	53%

43%

SECTION 300 - BID FORM

NAME OF BIDDER: DDH Apple Valley Construction, Inc.

The undersigned Bidder hereby declares that it has carefully examined the location of the proposed Work, and has read and examined the Contract Documents, including all plans, specifications, and all addenda, if any, for the following Project:

Navajo Road Drainage Improvements

BID SCHEDULE

NO.	ITEM DESCRIPTION	UNIT OF MEASURE	EST. QTY.	UNIT PRICE	LINE ITEM COST
1.	REMOVE EXISTING ASPHALT WALK	S.F.	92	10.40	956.80
2.	REMOVE EXISTING JUNCTION STRUCTURE	L.S.	1	2,000.00	2,000.00
3.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 0+47.5)	L.S.	1	7,500.00	7,500.00
4.	36" REINFORCED CONCRETE PIPE (D-2000)	L.F.	380	150.00	57,000.00
5.	6 IN. CONCRETE WALK PER SBCO STD. #109	S.F.	103	27.50	2,832.50
6.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 3+20.30)	L.S.	1	7,400.00	7,400.00
7.	CONCRETE HEADWALL PER SBCO STD. #209	L.S.	1	7,200.00	7,200.00
8.	INSTALL TRASH RACK	L.S.	1	4,200.00	4,200.00
9.	CLASS 5 INJECTION WELL SYSTEM	L.S.	1	23,000.00	23,000.00
10.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 3+87.18)	L.S.	1	7,600.00	7,600.00
11.	REMOVE EXISTING DRYWELL	L.S.	2	2,440.∞	4,880.00
12.	RUBBLE APRON	S.F.	354	30.00	10,620.00
13.	REMOVE EXISTING IRRIGATION SYSTEM	L.S.	1	8,700.00	8,700.00
14.	REMOVE EXISTING FENCE	L.F.	82	7.00	623.20
15.	DETENTION BASIN EXCAVATION	C.Y.	5,500	15.00	82,500.00
16.	MOBILIZATION/DEMOBILIZATION	L.S.	1	28,000.00	28,000.00
17.	STORM WATER POLLUTION PREVENTION BMP IMPLEMENTATION	L.S.	1	6,000.00	G,000.0°
18.	STAGING/TRAFFIC CONTROL	L.S.	1	10,200.00	10,200.00
	DRYWELLS AT VARI	OUS LOCATIO	VS	*	P
19.	CLASS 5 DRYWELL	EA	4	22,600.00	90,400.00
20.	8" DRAIN CONNECTOR PIPE	L.F.	250	300.00	75,000.00
21.	4" THICK ASPHALT APRON	S.F.	2,051	9.50	19,484,50
22.	24" X 24" CATCH BASIN	EA	5	2,430.00	12,150.00
23.	18" REINFORCED CONCRETE PIPE (RCP) (D-2000)	L.F.	40	200.00	8,000:00
24.	INSTALL TOWN FURNISHED INFILTRATION CHAMBER	L.S.	1	24,000.00	24,000.00
25.	TRAFFIC CONTROL	L.S.	1	4,200.00	4,200.00
	ALTERNATE	BID ITEM			
A-1.	UNIT COST FOR SETTLING CHAMBER	L.F.	TBD	1.00	1.00

Bidders must provide pricing for every bid item.

The estimated quantities for unit price items are for purposes of comparing bids only and the Town makes no representation that the actual quantities of work performed will not vary from the estimates.

In case of discrepancy between the unit price and the line item cost set forth for a unit price item, the line item cost, calculated at the unit price multiplied by the estimated quantity, shall prevail and shall be utilized as the basis for determining the lowest responsive, responsible bidder. However, if the amount set forth as a unit price is ambiguous, unintelligible or uncertain for any cause, or is omitted, or is the same amount as the entry in the "Line Item Cost" column, then the amount set forth in the "Line Item Cost" column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price. If any of the above discrepancies exist, the Town may recalculate the bid price on the basis of the unit price and the bidder agrees to be bound by such recalculation. Final payment for unit price items shall be determined by the Town from measured quantities of work performed.

TOTAL BID PRICE BASED ON BID SCHEDULE (BID ITEMS 1 THROUGH 25 AND ALTERNATE BID ITEM A-1):

\$ 504,648.00 Total Bid Price in Numbers

Five Hundred Four Thousand Six Hundred Forty-Eight Dollars and Zero Cents

Total Bid Price in Written Form

In case of discrepancy between the written price and the numerical price, the written price shall prevail.

The undersigned agrees that this Bid Form constitutes a firm offer to the Town which cannot be withdrawn for the number of Working Days from the bid opening stated in the Notice Inviting Bids from the bid opening, or until a Contract for the Work is fully executed by the Town and a third party, whichever is earlier.

The Contract Time shall commence on the date stated in the Town's Notice to Proceed or as stated above. In no case shall the Contractor commence construction prior to the date stated in the Town's Notice to Proceed, or before providing the required bonds and evidence of insurance.

Bidder certifies that it is licensed in accordance with the California law providing for the registration of Contractors, License No. <u>680052</u>, Expiration Date <u>11/30/21</u>, class of license <u>A</u>. If the bidder is a joint venture, <u>each</u> member of the joint venture must include the above information.

The undersigned acknowledges receipt, understanding and full consideration of the following addenda to the Contract Documents.

Addenda No. <u>01 - Dated 01/07/2021</u>
Addenda No. <u>N/A</u>

SECTION 340 - DESIGNATION OF SUBCONTRACTORS

In compliance with the Subletting and Subcontracting Fair Practices Act of the Public Contract Code of the State of California, each bidder shall set forth below: (a) the name and the location of the place of business, (b) the California contractor license number, (c) the Department of Industrial Relations registration number, and (d) the portion of the work which will be done by each subcontractor who will perform work or labor or render service to the Contractor in or about the construction of the work in an amount in excess of one-half of one percent (1/2%) of the Contractor's Total Bid Price. Notwithstanding the foregoing, if the work involves streets and highways, then the Contractor shall list each subcontractor who will perform work or labor or render service to Contractor in or about the work in an amount in excess of one-half of one percent (1/2%) of the Contractor's total Bid Price or \$10,000, whichever is greater. No additional time shall be granted to provide the below requested information.

If no subcontractor is specified, for a portion of the work, or if more than one subcontractor is specified for the same portion of Work, then the Contractor shall be deemed to have agreed that it is fully qualified to perform that Work, and that it shall perform that portion itself.

The Town requires the Contractor to perform at least 50% of the Work with its own forces and equipment.

Name of Subcontractor	Location of Business	Work to be done by Subcontractor	CSLB License Number	DIR Registration Number	% of the Work
J JIREH BUILDERS, INC	15842 Boyle Ave. Fontana, CA 92337	Concrete Structures	810747	1000020098	6%

SECTION 300 - BID FORM

NAME OF BIDDER: Christensen Brothers General Engineering, Inc.

The undersigned Bidder hereby declares that it has carefully examined the location of the proposed Work, and has read and examined the Contract Documents, including all plans, specifications, and all addenda, if any, for the following Project:

Navajo Road Drainage Improvements

BID SCHEDULE

NO.	ITEM DESCRIPTION	UNIT OF MEASURE	EST. QTY.	UNIT PRICE	LINE ITEM COST
1.	REMOVE EXISTING ASPHALT WALK	S.F.	92	4,10	377.20
2.	REMOVE EXISTING JUNCTION STRUCTURE	L.S.	1	1370	1370
3.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 0+47.5)	L.S.	1	5800	5800
4.	36" REINFORCED CONCRETE PIPE (D-2000)	L.F.	380	177	67260
5.	6 IN. CONCRETE WALK PER SBCO STD. #109	S.F.	103	73.40	3460,80
6.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 3+20.30)	L.S.	1	5000	5000
7.	CONCRETE HEADWALL PER SBCO STD. #209	L.S.	1	5000	5000
8.	INSTALL TRASH RACK	L.S.	1	3500	3500
9.	CLASS 5 INJECTION WELL SYSTEM	L.S.	1	49000	49000
10.	STORM DRAIN CLEANOUT STRUCTURE PER SBCO STD. #208 (STATION 3+87.18)	L.S.	1	5000	5000
11.	REMOVE EXISTING DRYWELL	L.S.	2	2040	4080
12.	RUBBLE APRON	S.F.	354	16:70	5911.80
13.	REMOVE EXISTING IRRIGATION SYSTEM	L.S.	1	2300	2300
14.	REMOVE EXISTING FENCE	L.F.	82	23,60	1935,20
15.	DETENTION BASIN EXCAVATION	C.Y.	5,500	19	194500
16.	MOBILIZATION/DEMOBILIZATION	L.S.	1	20400	20400
17.	STORM WATER POLLUTION PREVENTION BMP IMPLEMENTATION	L.S.	1	7600	7600
18.	STAGING/TRAFFIC CONTROL	L.S.	1	3850	3850
	DRYWELLS AT VARI	OUS LOCATIO	VS	11	
19.	CLASS 5 DRYWELL	EA	4	45000	180000
20.	8" DRAIN CONNECTOR PIPE	L.F.	250	170	42500
21.	4" THICK ASPHALT APRON	S.F.	2,051	19:30	39.584,7
22.	24" X 24" CATCH BASIN	EA	5	3200	16000
23.	18" REINFORCED CONCRETE PIPE (RCP) (D-2000)	L.F.	40	237	7480
24.	INSTALL TOWN FURNISHED INFILTRATION CHAMBER	L.S.	1	29000	29000
25.	TRAFFIC CONTROL	L.S.	1	5900	5900
	ALTERNATE	BID ITEM			
A-1.	UNIT COST FOR SETTLING CHAMBER	L.F.	TBD	300	

Bidders must provide pricing for every bid item.

The estimated quantities for unit price items are for purposes of comparing bids only and the Town makes no representation that the actual quantities of work performed will not vary from the estimates.

In case of discrepancy between the unit price and the line item cost set forth for a unit price item, the line item cost, calculated at the unit price multiplied by the estimated quantity, shall prevail and shall be utilized as the basis for determining the lowest responsive, responsible bidder. However, if the amount set forth as a unit price is ambiguous, unintelligible or uncertain for any cause, or is omitted, or is the same amount as the entry in the "Line Item Cost" column, then the amount set forth in the "Line Item Cost" column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price. If any of the above discrepancies exist, the Town may recalculate the bid price on the basis of the unit price and the bidder agrees to be bound by such recalculation. Final payment for unit price items shall be determined by the Town from measured quantities of work performed.

TOTAL BID PRICE BASED ON BID SCHEDULE (BID ITEMS 1 THROUGH 25 AND ALTERNATE BID ITEM A-1):

In case of discrepancy between the written price and the numerical price, the written price shall prevail.

The undersigned agrees that this Bid Form constitutes a firm offer to the Town which cannot be withdrawn for the number of Working Days from the bid opening stated in the Notice Inviting Bids from the bid opening, or until a Contract for the Work is fully executed by the Town and a third party, whichever is earlier.

The Contract Time shall commence on the date stated in the Town's Notice to Proceed or as stated above. In no case shall the Contractor commence construction prior to the date stated in the Town's Notice to Proceed, or before providing the required bonds and evidence of insurance.

Bidder certifies that it is licensed in accordance with the California law providing for the registration of Contractors, License No. <u>93188</u>, Expiration Date <u>03/31/21</u>, class of license <u>A</u>. If the bidder is a joint venture, <u>each</u> member of the joint venture must include the above information.

The undersigned acknowledges receipt, understanding and full consideration of the following addenda to the Contract Documents.

Addenda No	
Addenda No	

SECTION 340 - DESIGNATION OF SUBCONTRACTORS

In compliance with the Subletting and Subcontracting Fair Practices Act of the Public Contract Code of the State of California, each bidder shall set forth below: (a) the name and the location of the place of business, (b) the California contractor license number, (c) the Department of Industrial Relations registration number, and (d) the portion of the work which will be done by each subcontractor who will perform work or labor or render service to the Contractor in or about the construction of the work in an amount in excess of one-half of one percent (1/2%) of the Contractor's Total Bid Price. Notwithstanding the foregoing, if the work involves streets and highways, then the Contractor shall list each subcontractor who will perform work or labor or render service to Contractor in or about the work in an amount in excess of one-half of one percent (1/2%) of the Contractor's total Bid Price or \$10,000, whichever is greater. No additional time shall be granted to provide the below requested information.

If no subcontractor is specified, for a portion of the work, or if more than one subcontractor is specified for the same portion of Work, then the Contractor shall be deemed to have agreed that it is fully qualified to perform that Work, and that it shall perform that portion itself.

The Town requires the Contractor to perform at least 50% of the Work with its own forces and equipment.

Name of Subcontractor	Location of Business	Work to be done by Subcontractor	CSLB License Number	DIR Registration Number	% of the Work
Crown Construction Eng. Inc. Torrent Resources	10130 Kernwood Ct Alta Loma	Concrete Structure	1026331	100008053	58
Torrent Resources	9950 Alder Ave Bloomington CA	Drywells	886759	10000 8053	40%